Examples of creek setback determination

Creek Setback Line

’
i

24 ¥ 18’ = 38’

Setback area 367 + 217 = 577

Examp le

Charmne!l depth = 18 fTeet

Creek Bank Slope = 1.5:1

Using Section 6-1481 (ai(1)

Bank slope s steeper than 2:i1
tTheretfore the setback s determined
by adding twice the chamnel depth
To the minimum setbkack for the
chanmne | depth. This setback is
medsured from the toe of the slope.

Creek Sethack Lins

T
Setback araa 307 + 15" = 45°

Example 2

Channe! depth =10 feet

Creek Bank Slope = 311

Using Section 6-1481 (a){1)

Barmk slope is flatter than 2:1 and
the depth s 10 feet. Therefore the
minimum setback of 15 feet from the
top of bank 1s used.

Top of Bank

fTOD of Bank

Craek Setbadck Line

Setback area 3 X 307 = 907

Example 3

Channe! depth = 30 feet

25’

Sethaok Lina

Cresek

Setback area Toe
3 X 25 =75

Example 4

Cresk Bamk Slope = 1.5:1

Using Section &6-148
Bank slope 1s steep
theretore the setba
by multiplying the
by 3. The setback
The toe of the slop

1 (axz)

er than 2:1

ck 135 determined
charmne ! depth

s measured from
e.

Channe!l depth = 25 feet

Cresk Bank Slope = 3:1

Using Section 6-1481 {(q){Z)
Bank slope is flatter than 2:1
and the depth is over 21 feet.
Therefore the setback is the
top of bank.




